Group 1 Maths

‘ rounding to the nearest whole number -
= [ look at the first digit which comes jus? after the decimal point &
Hitisah 6,7 8o0r9 =-romduptoﬂ\cnu?whohuﬂ\bll'. 3
fitiga0, 1,2 3or 4 = leave the whole rumber before the point as it is.

5.4 2 § to the nearest whole number
28 = 3 to the nearest whole number

65 = 7 o the neorest whole number

8 399999 = A to the nearest whole number

When each decimal s rounded to the nearest whole number, which of the

A
' two numbers in the brackets is the correct answer -

a 62 (bor7)? b 47 (40r5)?

¢ 59 Boré)? d 34 (3 or 4)?

e 1316 (130r14)? f 1786 (17 or 18)?

g 45 (4or3)? h 605 (bor?7)?

| B063 (80er81)? J 20028 (2000r 201)?

Copy and complete these statements .-
@ 18 les between 1 ond 2 It is closer to '

b 34 s between 3 and It is cloger to
~

¢ 85 lies between  and .
C It s closer to

(remember the rule)

d 2 g'Q hes bl‘.
.t ; ween QN
na It is closer to

¢ 023 lies between . and = _
o At is Closer 1o

! 074 lies Detween  and It is closer ¢
3L rTo

9 0581".5 ..‘L‘W(CH Old I |$C| !
! °
Svu O

3354 lies
3 €S Detween  and ¢
115 closer 1o
{8502/t
“oetween _ and It s closer ¢
)



wmmﬂuMMC:-

s £620 b £89%0 ¢ £430
e £1480 f €£1650 g £1949
| £043 } £053 k £050

4 wfmmstothewmm:-

. B4cm b 96em ¢ 108em
. 447cm f 785em g 1829 cm
i 2627 cm J 3899 cm k 4314cm

£560
€177
|  £10648.

31lcm
2463 cm
I 6950 cm

To reund numbers like 2:86497 to the nearest whole number -

step1 - check what two numbers it lies between - (2 and 3)
Step 2 - decide which whole number it is closer o —> 286497 — 3
Round these numbers to the nearest whole number, in the same way -
a 146744 — b 497254 —» c 826829 —
d 6348623 — e 544574 — f 7059332 —
g 14755554 — h 17079784 —> i 2964765 —>
)} 0921161 —> k 36247671 —> | 4209999 —»

Use your calculator to do the following divisions.

Write down the answers, correct to the nearest whole number :-

40-7 b 45+8
106 + 17 e 214:29
930 - 340 h 1202+75
25+13 k 04:07

c
f

|
Three office workers won £2789 at the bingo. How much did they each get ?

A plastic tubing 92 cm long is broken into 5 equal pieces. How long is each piece ?
2000 plants are shared equally between 12 neighbours. How many does each get ?

53+ 16
500 + 39
2800 + 103
973 « 100,

——

m—

Here is how you can find remainders using your calculator,
147 « B

-3
* Now find 8 x 18 = 144,
* Now find 147 - 144 —> remainder =

* Use your calculator to show 147 + B = 18-375,

— —

thcmumhead\afﬂn-fom&l‘wﬂbmﬂwddmmn-

a 217+8

.

b 309+9

—

c 192:5

B gn vy L

'd 4000+ 13,




Group 2 Maths

X ——

— :
H seven and eight tenths {8

RALO N L 0

@ 787 - (®) 2500

(d) 07 (e) I7% (f) four and'_u

2 Copy and complete each sequence.
(a) 02, 0-4, 06, ! : (b) 2-6, 2-2, |8, .
(c) 67, 64,61, X : (d) 2:4, 3-0, _, 420
(e) 105, 101 : : 85 () 1'4, —, - 2.

3 Write the number between:

4 Write a number between:

(a) 3-61@\4-0 (b) 143

(d) 154




| Write the volue of each red digit.

@ ®Nalels] © [[6[2]2

11317
o [(RRERI © [s8fe]  “ [[2[ai4

1 Write True (T) or False (F).

©) 90>019 (b) 340 > 340 (¢) 603 <630
(d) % > -:-'5 (e) 4%0 < 7%0 n 93<319

1 'Write the smallest number.

@23 32 ®) 6475 64 646
@ 41 ly5 14 (@) 155 551 155
Jst the numbers in order.
* Stort with the smallest.
(@) 38 30 43 34 ®) 190 19 109 %I
OStortwid\melorq’en

5 4 14
(¢) 25 3% 2% 37 (9 40 7 140 o

é Round to the nearest whole number.
(o} 48 @) 3¢ fo)y &3 (4) 104 (o) 179
. ) 552 (g9) 297 ) 2341 () 7490 () 1995




Group 3 Maths

[ Adding whole
Adding in Hundreds numbers up fo

3 digits with no
Example Do thissum:- 216 + 473 b

Set down as shown.

* Remember 1o line up
the numbers

216 + 473 = 689]

Copy and complete :-

a 104 b 429 € 315 d 426
+ 123 + 260 + 134 . 172

e 506 f 572 9 609 h  e81
+ 391 + 225 + 140 + 217

i 801 J 856 k 900 | 637
+ 177 + 123 + 87 + 52

- Line up each addition sum, then work out the answers :-

o 215+372 b 1484531 ¢ 3964102 d 424+265

3004200 f 356+423 g 482+311 h 501+198

|
S Bovtin - fnsienr tht 6 prje 51 "‘lli‘l.?_'_i 5

5724116 | 677+210 k 603+345 | 714+273




